Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q1. Among the European powers, who were the first to land in India as traders?

A. Dutch B. Portuguese

C. British D. French

Q1. farafaf@a gy afFaatl & F wla wa@ gz oRa & s & w7 F v 92
A. 59 B. gearelr

C. 33 D. ShIeE

Q2. is the captain of the Indian women's cricket team.

A. Mithali Raj B. Veda Krishnamurthy
C. Smriti Mandhana D. Jhulan Goswami
Q2. R AT e A7 Y Fear

A. ToaTelr s B. daT Feurefd

C. #gfa sz D. Sl IMEaraT

Q3. Chilka Lake is in

A. Bihar B. West Bengal
C. Odisha D. Uttar Pradesh
Q3. Rrew sher #e

A. S8R B. ufR™# serrer

C. 3iifsam D. 3cck 9T

Q4. is the Union Finance minister.

A. Arun Jaitley B. Rajnath Singh
C. Prakash Javdekar D. Nitin Ghatkari
Q4. HFOT Rea #70 §

A. 30T Sicelr B. Trotey &g

C. I ATaSH D. fAfaer szl
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)

Evening Session (Revised Key)

Q5. Who was popularly known as Punjab Kesari?
B.
D.

A. Bal Gangadhar Tilak
C. Sir Chotu Ram

Q5. Fd T WU ¥ g A Fgad I?
A. 91T I9MER [

C. W BIg IH

Q6. Mahabharata was fought in
A. Kurukshetra

C. Karnal
Q6. FAFIHRA # orsT a3 Al
A. FTEIT

el

C. HTT

Q7. Who lost the first battle of Tarain?
A. Mohammed Ghori
C. Gulam Vansh

Q7. aE F ugel w3T$ # FrEhy g gf o
A. HAlgFAS Y

C. agama"%r

Lala Lajpat Rai

Rao Tula Ram

. ©ofTell eflolqd I

B. Ayodhya

. Panipat

. 3raer
. g d

B. Prithvi Raj Chauhan

. Firoz Shah Tuglaq

. RIS Tigre

. RISt ermg Jaterh

Q8. Which Chief Minister banned liquor in Haryana?

A. Shri Bhupender Singh Hudda
C. Chaudhary Devi Lal

Q8. gRmo # fFw FETHEN A R W yfay wemr?

A. 1 579X T8 ggsr
C. =erdy &Y ofrel
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter

(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q9. Which dance is performed during Holi?

A. Ghoomar B. Ratvai
C. Phag D. Dhamal
Q9. g1 & gl i &1 e R ST ¥?

A. g7 B. Idds

C. BIT D. g#HTer

Q10. Who amongst the following is NOT born in Haryana?

A. Hema Malini B. Juhi Chawala
C. Kapil Dev D. Sakshi Malik
Q10. farafaf@d # & fruet stew gRamom & ¢ gam 82

A. §HT ATl B. STgI @raer

C. T &g D. @ref Al
Q11. In Haryana, trees are planted along the highways and wasteland.
A. Mango B. Eucalyptus
C. Peepal D. Kikar

Q11. g #, TewwEt 3R TR A w ¥ 93 9T AT §
A. 3H B. gehfaced

C. 9iuet D. e

Q12. Which state was the theme state in Surajkund Crafts Mela 2017?
A. Rajasthan B. Kerala
C. Jharkhand D. Karnataka

Q12. e W1 T, YIor%s Rew Aar 2017 F1 diy U7 U412
A. TSTEITST B. el

C. 3IR@s D. Tailceh
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q13. Haryana government recently announced pension schemes for

A. Journalists B. IT Professionals
C. Women D. Cricketers

Q13. gRIT WFR A g & H & forT Jerer =3t S aiyor 6y §1
A. TIHR B. 3.8, 99a)

C. Afgemu D. fohhex

Q14. Which Yojana is announced by Haryana government for the development of urban
areas?

A. Grahmin Ghar Yojana B. Urban Vikas Yojana

C. Nagar Vikas Yojana D. Mangal Nagar Vikas Yojana
Q14. Usdt &1 F fFw & AT ATV WEFR ganT fFFa A= A aivon it 71§ §2

A. ITHOT TR STl B. 2redl faehre Arstetr

C. TR TFh1H Frstelt D. HITeT IR Tdehr Artelt

Q15. What is the main objective of Rashtriya Krishi Vikas Yojana (RKVY)?

A. To achieve 4% annual growth in agriculture B. To achieve 2% annual growth in agriculture
and allied sector and allied sector

C. To achieve 4% annual growth in agriculture D. To achieve 3% annual growth in allied sector
Q15. TE F R A (3.5, A.a18) F1 AT 3227 FAT 8?2

A. FY 3R Heg alT & 4% aTiie gig e B. $ 3R Hag & # 2% aridieh ghg Falr

C. BN & 4% a1l gig e D. Heg &9 # 3% dri¥eh gig e

Q16. Swang, an ancient folk theatre form opens with a song in praise of

A. Lord Ganapathi B. Goddess Bhawani

C. Goddess Durga D. Lord Shiva

Q16. T, TF YHR I W aF A, #Y gerT F TF AT M PE Y St B
A. #erare IroTafa B. & star=it

C. & gafr D. srerare R
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q17. Surendra Sharma of Mahendragarh district has made good contribution to Haryanvi

A. Folk dance B. Folk song

C. Stories D. Comic poetry
Q17. wgeare S F Pim e A ghaordt 3 3reeT Arere R B
A. Slshelcd B. @Rl

C. Fgrfat D. &g Hfaar

Q18. What is Pidi?

A. Footstool Craft B. Bamboo Craft
C. Durries D. Painting
Q18. A FT ¥?

A. HEEC hIFE B. ¢ 7
C.glr D. =7

Q19. Which is the smallest district of Haryana in terms of area?
A. Hisar B. Panchkula
C. Ambala D. Sirsa

Q19. 9% F o I gRATOT FT Fa& Ber e wiaT AT 82

A. fgEr B. gaeer
C. 3FTer D. faar
Q20. Aravalli hills lies in part of Haryana.

A. Western B. Eastern
C. Southern D. Northern
Q20. 3RTaet #Y ygifzar gR=mon F oI # foua §1

A. afeas B. qdf

C. gfaoft D. 3car
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q21. is NOT a cotton growing area in Haryana.
A. Jhajjar B. Sirsa
C. Fatehabad D. Jind
Q21. ERATOT FT TF FUW IcqeF &F 761 &l

A. SooR B. f&war
C. tdgrerg D. Sfig

Q22. Which hills covers mainly Ambala, Panchakula and Yamunanagar?
A. Shivalik Hills B. Aravalli Hills
C. Mewat Hills D. Dhansi Hills

Q22. e wgIf3l # FAET T F T, TaFar IR IFATTR anfder &2

A. Riarfos $r ggrfsar B. 3RTdelr I qgIfsar
C. #Aard & vgrfsar D. &Y & ygIisar
Q23. is considered as the meeting place of seven Saraswati rivers.
A. Karnal Sarovar B. Badkal lake

C. Hathnikund D. Sannihit Sarovar
Q23. ! WTq GIEad Afeat FT PrereT T A Srar 21

A. FATT TG B. Scehel Sitel

C. gYaiehs D. Hfeaifed TRIa%
Q24. The President holds office for a term of years.

A. Five B. Three

C. Two D. Ten

Q24. Tseufy F1 FIFIA st 71 giar 8

A. 9 B. dieT

c.ar D.gH
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter

(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q25. Chandigarh is governed by

A. Punjab Government B. Union Government

C. Haryana Government D. Chandigarh Government
Q25. ¥EnTe EaRT A B

A. 9T EHR B. g R

C. gRammT WER D. H8NTg WHR

Q26. What is the number of Lok Sabha constituency in Haryana?

A. 8 B. 10

C.5 D. 12

Q26. gRITom ¥ AT & T TEAT FAT §?

A. 8 B. 10

C.5 D. 12

Q27. Launch of the Van Mahotsav coincides with Haryana's Swarna
Afforestation drive.

A. Sixtieth B. Sixty eighth

C. Seventieth D. Seventy seventh
Q27. mﬁmmgﬂn’%ﬂgﬁmm#mﬁaﬁﬁm*mugwl
A. TTaat B. 1S 3Taar

C. Heear D. HeeR ATeld

Q28. Which district of Haryana is famous for the production of Mushrooms?

A. Sonipat B. Hisar

C. Sirsa D. Panchkula
Q28. g 1 e |1 e AIRA F e F favw ylg &2

A. Eifad B. fea

C. faar D. qurghell
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q29. Which of the following is known as 'Brass town of Haryana'?

A. Jagadhari B.
C. Hisar D.

Q29. 3aH ¥ KW, "gRIToN FT fiaer A FET AT 8?

A. SETERY B.
C. RORrR D.

Q30. Pick the odd one out:

Cabbage, Broccoli, Cauliflower, Corn

Faridabad
Kundli

LAY

A. Corn B. Cauliflower
C. Broccoli D. Cabbage
Q30. WA FT TIA F:

gedransft, sterelt, weransfl, sgaT

A. 8T B. Horaisy
C. siiarel D. Ycdrensir
Q31. Find the analogy.

Mps : Dgj :: Jdg : ?

A. SMP B. Smp

C. jDG D. MgD
Q31. WA g&|

Mps : Dgj::Jdg : ?

A. SMP B. Smp

C. iDG D. MgD
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q32. What should come at the place of question mark (?) in the following number series?
5, 30, 155, 755, ?
(Bonus Mark Allotted To All Candidates)

A. 1225 B. 1355
C. 3780 D. 2225

Q32. farafaf@a Fear sf@en & e et (?) F TUT W F47 el A1RT?
5, 30, 155, 755, ?
(Bonus Mark Allotted To All Candidates)

A. 1225 B. 1355
C. 3780 D. 2225

Q33. If in a coding scheme, MUSIC is written as 13, how will be TUNE coded as?
A.9 B. 10

C. 14 D. 15

Q33. I TF I3 41T & MUSIC Y 13 f@T 911 § af TUNE & 7 for@r seen?

A.9 B. 10
C. 14 D. 15

Q34. Find the value of X in the following equation:

2 1=6
—x=1=6-%
5

A. 6

C.4 D. 3
Q34. Arafaf@a adisor & X F1 AT ATl

2 1=6
—x—=1=6—x
5

A. 6

C. 4 D.3

Q35. If P(A) = 0.2, P(B) = 0.3, P(A N B) = 0.43, find the value of P(A U B).
A. 0.04 B. 0.06
C. 0.07 D. 0.05
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q35. I P(A) = 0.2, P(B) = 0.3, P(A N B) = 0.43 g1 af P(A U B) & A A%
A. 0.04 B. 0.06
C. 0.07 D. 0.05

Q36. 64% of 6% of 8755 =

A. 636.657 B. 543.765
C. 453.224 D. 336.192
Q36. 8755 ¥ 6% FT 64% =

A. 636.657 B. 543.765
C. 453.224 D. 336.192

Q37. Suma bought a table for Rs.6000 and sold it at 30% profit. What is the selling price of
the table?

A. 6700 B. 7800

C. 8345 D. 9825

Q37. AT A 6000 T # v At wliar 31 3W 30% w7 W AT Re2ml 37 AT F R sy fraen 2
A. 6700 B. 7800

C. 8345 D. 9825

Q38. Which of the following type of shallow foundation is also known as continuous
footing?

A. Strip B. Spread

C. Cantilever D. Mat foundation

Q38. AFafaf@a # ¥ fFw YR At 3yeh ofiT Fr gaa R & anr & st Srem Jrar 82
A. g B. Ts

C. e D. #c T

Q39. According to Skempton, the maximum values of bearing capacity factor (N.) for strip
footing are .

A.5.14 B. 7.5
C.6.2 D.9
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q39. Frea ¥ FUR, ey $Rer & fAv a5+ awrar FRF (N) F1 AT 71 gt 1
A.5.14 B.7.5
C. 6.2 D.9

Q40. Which of the following is not a type of a sheet pile wall?

A. Cantilever B. Anchored

C. Braced D. Flat

Q40. 3aH ¥ &I, T efic F T F Har g1 &2

A. FENR B. Ushs

C. 9% D. %ol

Q41. A material is said to be if it returns to its original, unloaded dimensions when
load is removed.

A. Elastic B. Ductile

C. Malleable D. Tensile

Q41. T FIHA FHY FgT AT 8, IS I§ U= TEAfaD, IAASS JIAH A I9H Al 3791 § o9 A
&eT T e B

A. dIER B. FHAT

C. orirelr D. d=g

Q42. Identify the metal casting process in which the silica sand is mixed with phenolic resin
along with a curing agent.

A. Evaporative pattern casting B. Investment casting

C. Shell moulding D. Ceramic shell investment casting

Q42. 3W Acd HITT YfHAT F Tga wA Baifas W & @y ve FaRr vaie & ary-ary RAfawr sy Berr
ST §1

A. arsfigof deet FHifeeaT B. Scd¥cHc HIEcaT
C. o Afesar D. fRfA® e seatcHe HIfeedT
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A_dv No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter

(Industries and Commerce Department, Haryana)

Evening Session (Revised Key)

Q43. In the USA principle for dealing with automation projects, S stands for

A. Study the current process B. Simplify the process
C. Select the appropriate process D. Simulate the process
Q43. TauTda IR F Auea F AT USA $ Rgia &, S T HE B
A. TIATA IfshaT T I7ETTA HL B. ufshar & &er g1

C. 3T FfohaT T TF Y D. YfShaT T 30T Y

Q44. Which of the following is not a dependent electrical source?

A. Transistor B. Transducers

C. Amplifier D. A copper resistance along the circuit

Q44. 3 ¥ Fla, v fAsk Rega W adi 82

A. zifsreex B. gESIW

C. TFIAIHRR D. §féhe & 910 T didl T FfeRrer
Q45. Transformer is an example of element.

A. Active B. Passive

C. Unilateral D. Bilateral

Q45. THEHRER dca FT UF 3T ¢

A. |feg B. [AfSwa

C. TeheR®l D. GIeRwr

Q46. In a retardation test, the formula to calculate the lost torque at any speed is:

aw oo
Tios:= at Tiose= 2t
A. e B. ks
Tiost= PL-o D. lost=P+®

C
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q46. T Hear wderor &, e st 71fq ¥ @e gu e A 0T FA HT YA

d""‘ d‘b'}'

Tiose=] = Tiose= dt

A. baris B.
C T!c.gtz pL'(’) D. TIC-‘.‘-Iz PL+C')

Q47. What is an opto coupler?

A. A combination of a LED and a photo diode B. A diode used to display digits and few
alphabets
C. A reversed biased diode D. A p-i-n diode in which the active region is in

intrinsic region

Q47. 3ifee FeaX 41 §?

A. T Td.$.3). 31T U Hie) SRS FT U ATl B. 3/% 3R Fo quit &1 vaRid Ht & fow suner faar
I-T T SHAS
C. Ts Fudid gerare s/ D. Us e SRS e afsha &7 saRe g A @ar g

Q48. Electronic systems analysis and process control theory are generally based upon the

analysis.
A. Cause and effect B. Root cause
C. Failure mode D. Worst-case circuit
Q48. saFcifas fAveH feayor 3t ufiFar fg=or Rgia smrak 9T frearwor o3 3l @
A. FROT 3R F811d B. #T FROT
C. A%e Als D. HH-TE-+F Hihe

Q49. The function of a constant current diode is to

A. Allow current in reverse direction when the B. Regulate the voltage at a particular current
applied voltage reaches the breakdown voltage

C. Store the charge from positive pulse D. Change the capacitance ranges within the
circuit in the presence of constant voltage flow
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q49. TF fAd FI¢ SAIE FT F ]|

A. e @ faulie feem # S 7 TATT ST S o], B. TRl faRIW e W alecst il fafeaiad seer

C. Uifaifed Jod & TTeT &l TR el D. TR aleest varg $r 3ufeyfa 7 afde & fiax
Fufada Hamit 1 gRafda a=ar

Q50. Fifth generation computers are based computing device.

A. Vacuum tube B. Transistor

C. Integrated circuit D. ULSI microprocessor

Q50. wiFdt fidt & Fogex smenia Fogféer RBasw g

A. dFgH o B. giforeex

C. §érIes dfhe D. I UA.UH.3MS. (ULSI) ASHITAE

Q51. Which of the following is a computer program which conducts a conversation via
auditory or textual methods?

A. ChucK B. Chatbot

C. RecordPad D. Zulu

Q51. 31 ¥ FieT, T AT FTYEI W § A Havr A7 enfeee fafdat & Arews & arateny #ar 82
A. TH B. dede

C. R=isds D. I

Q52. The process of efficiently organizing data into tables and columns in a database is
called

A. Database management B. Normalization

C. Refactoring D. Data structuring

Q52. T 3TRW # Taat AR FioH # 3&T T FUAAANEH qTRUT F $ IR FY FET ST B
A. 3T HelolHe B. ATHSAIA

C. Riparefier D. 3¢ Egaafiar
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q53. In C programming, all character variables get converted to data type
while performing arithmetic operations.

A. float B. double

C. integer D. long

Q53. 'C' WA H, JFIOTT T FIH Fd AT T HF¥FeT INTaer 31 R & gRafda g s &
A. TliT B. @

C. yufish D. T

Q54. When there is more than one person demanding for the same product then this leads

to

A. Demand B. Competition

C. Supply D. Funding

Q54. 39 tH ¥ H0F AFT v § 3curg F AT FId § A gl 1

A. AT B. gfaafarar

C. 3maft D. fareadiror

Q55. is not a type of competition among the sellers in a free market system.
A. Perfect B. Monopolistic

C. Imperfect D. Monopoly

Q55. UF HFd a9 YoIrel 7 Rt & i v yaR A wfaafar 7¢i 3

A. 3caH B. UHITOHRAT

C. 3ot D. Tt

Q56. Producer surplus and surplus constitute the total economic surplus in an
individual market.

A. Manufacturer B. Consumer

C. Monetary D. Demand
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

AT v 3T TR H T JRF AT F7 AT F F
B. 39sfierar

D. HT

Q56. 3cUTEH FAAY 3T
A. &
C. Az

Q57. From the given graphs, identify which one represents perfectly elastic demand?

Price p
Pricep

(=)
D

Quantity q Quantity q
Figure a vig

"g \ o g o
('Du.n(lty Q Quantity q
A. Figure A B. Figure B
C. Figure C D. Figure D
Q57. &R T arv I A, ygaTeTsr Y FIAY FX fF gorot F Fler, 7 ave § Arwer AT w1 yfafafca wwar g?
2 2
Quantity q Qu-n::ty a
g \ o '3 D
c':bu-nt"v a Quantity q
A T A B. @B
c.RIcC D. &3 D
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q58. Which one of these are not public goods?

A. Parks B. Highways
C. Roads D. Clothes
Q58. 37 ¥ Fl, AT awg ¢ 2

A. 9 B. TSTATIT

C. g5 D. %93

Q59. Which one of these budgets is not prepared by the governing bodies in India?

A. Union B. State

C. Corporate D. Municipal
Q59. 5H ¥ FisT €l Fore, AR H A AFTT AR AR & A 7S §?

A. giarge B. 5T

C. HraRe D. FIRYTfelehT

Q60. The term that signifies a substantial reduction in the economic activity of a country,
such as employment and trade, lasting for some months is

A. Recession B. Declination

C. Depreciation D. Resurgence

Q60. __ UH W Usg § ST U g Y 3w afafaf®r # gwiea A w1 wdliw §, S & d9eR 3t R,
TS AQAl a Tl

A. FEY B. Sy

C. e H D. JeTdclsl

Q61. A company's economy strength is specified in terms of Gross investment, which is
calculated as:

A. Net investment - Depreciation B. Depreciation + Gross investment

C. Depreciation - Net investment D. Net investment + Depreciation
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q61. TF FUelt FY rdegaeyr Hr ARFT FT wFHa fawr Hir e & Wfdse Brar Jrar ¢, FSraehr o R #
Tt 8

A. g fAder - FeTerd B. HeTe + Hehel fAaer
C. HeTe - g faaer D. g e + Foagrd

Q62. Bharatiya Mahila Bank will now merge with:

A. Vijaya Bank B. State Bank of India

C. Punjab National Bank D. Indian Overseas Bank
Q62. AR AT dF F1 AT 319 Fras 1Y 8 STwIN?

A. fasrar d& B. R TT o

C. 9TTd A dep D. f3ae 3NavdsT d%

Q63. Among the given banks, which bank has its headquarters in Kolkata?

A. Syndicate Bank B. Dena Bank

C. Allahabad Bank D. Union Bank of India
Q63. A R arv d=i #, frw I F1 FEATrT Frerwrar # 82

A. Rifsde d% B. & o

C. SAENEIG doh D. IfAgeT 3% 3w sf3ar

Q64. In which of the following Indian Government Mints, the production of coins is not
operated?

A. Noida B. Kolkata

C. Indore D. Hyderabad

Q64. YRd WHR & AFATATAT ehural # FH cHarer & RAFHI FT IcurgsT AT FFaT SATaT §2
A. srust B. shrefehral

C. g D. geleTe
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q65. Dumping refers to:

A. Buying goods at low prices abroad and selling B. Reducing tariffs
at higher prices locally

C. Sale of goods abroad at a low price, below their D. Expensive goods selling for low prices
cost and price in home market

Q65. 3R F1 AdT &

A. Taget & e AT R ATHAH TS 3R TAENT TR B. Yoshl HT HH Hkll
R 3 FeAd W o Hear

C. T TSR H 34T AT IR FAT § FA AT R D. HH HAT T Al ae3it v fashr
faeer & aEq3it v fashr

Q66. When does income inequality curve tends to follow inverted U curve?
A. When economic growth is slow B. When inequality rises

C. When income is less D. When economic development increases
Q66. T JHATIAT aF F AT J TF FT ITelel FIAT 82

A. 39 31 g i grar & B. SI& 3rHATAAT §¢ ST &

C. 99 3T &H T & D. S« 31T faee s¢ Srar 8

Q67. In economics, any payment to a factor of production in excess of the cost needed to
bring that factor into production is called

A. Economic profit B. Economic cost

C. Economic rent D. Economic productivity

Q67. AT H, TF FRF I 3G A Aot & AT a2 TqF arrg ¥ 30+ 39 F FRF & v fFv F= arer
ST HgT STt &

A. 33 ey B. 3nfdes orerg
C. 3 D. 37 IcuTeehdr
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Adv. No. 06/2016 Cat No. 05, Industrial Extension Officer at Headquarter
(Industries and Commerce Department, Haryana)
Evening Session (Revised Key)

Q68. What do you mean by rate of economic growth?

A. Geometric annual rate of growth in GDP for B. Geometric annual rate of growth in GNP in a
reducing inflation over a period of time. year.
C. Geometric annual rate of growth in GDP D. Geometric annual rate of growth in GNP

between the first and the last year over a period between the first and the last year.
of time.

Q68. 1w A Y & I 3T F4T A §?

A. U FHRIATETT H HZEHITT HT A Hel & foav SNELd. B, U a¥ # Sh.ue. . # gig & sanfad arfde o1
# gfg &1 Sanfadr afde &3

C. U AIE & ugel IR Moo a¥ F AT AW # D, ggel iR Woe a¥ & g sh.oa. . 7 gfg i
gfe & s arffs ax SR arf¥e &x

Q69. A situation in which the allocation of goods and services is not efficient is termed as

A. Market Failure B. Government Failure

C. Passive Government Failure D. Government Borrowing
Q69. 3 eufa ¥ a1 FeT ST § oW awga AR Fanat 1 dea FREFUT AL grar 22
A. STSTR &1 fawerar B. SR TAherdr

C. [AfSha atarY fawerdr D. &R 3UR

Q70. Which tax is imposed by a jurisdiction on the income or capital of corporations or
analogous legal entities?

A. Income Tax B. Service Tax

C. Value Added Tax D. Corporate Tax
Q70. FRURAEAT AT FH aTE Y FefaAr FEATHT A I AT Gl I TF HAFR &1 GART FeT /I FT AT SATAT 82

A. TR B. 9dT T
C. 7ea aftfg & D. HIURE Y
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Q71. What do you mean by Government investment?

A. Government purchases of goods and services
for current use.

C. Government purchases of goods and services
intended to create future benefits.

Q71. TIHNY AT W 3T F4T A 82

A.WW?WE@ﬁWWﬁ#W
ECEArARY!

C. #TasT & o187 HATA o U T FEI3AT 3R Farait &r
TN @GR

Q72. What is the expanded form of NABARD?

A. National Bank for Agriculture and Rural
Development

C. New Agricultural Bank and Revenue Deposit

Q72. AaTE (NABARD) T fa¥aia &7 471 82
A. TG HY Td JrAI0T [ S
C. Afas ¥ e 3R e StAT

B. Government expenditures that are not
purchases of goods and services, and instead just
represent transfers of money.

D. Government expenditures where income is
transferred to people that have suffered a loss
due to natural disaster.

B. TR T St a3l 3T Far3it dr wlery & fov
T2t afeds R uet & gEaieror & fav e S 8

D. TRFRT cTT 8T 3T T AN T gEATTRT A f&ar
ST & fSied ITepfaieh 31T & HROT el §37T &

B. National Agricultural Bank and Remote
Development

D. New Aeronautical Branch and Remote Design

B. Idra ¥ da 3R Fey e
D. @1$ dwrfaeht emar 3R gey fBase

Q73. Which one of these is an example of direct tax?

A. Income Tax

C. Value Added Tax
Q73. 3 ¥ Fie, Y& FT FT UF 3T ¢?
A. 3TIRT

C. 7ea aftfg &

B. Service Tax

D. Stamp Duty

B. @aT X

D.RITCI'Q_],W

Q74. Short term finance are the loans offered by the bank that need to be repaid within

A. 1 year
C. 3 months
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B. 6 months
D. 1 month
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Q74. sreurafer R, d% garr R smat ara F %or § g & i TTeT g3 B
A lay B. 6 #E
C. 3 7= D. 1 ®gr=T

Q75. Which is the oldest stock exchange in India?
A. Bombay Stock Exchange B. Cochin Stock Exchange
C. Bangalore Stock Exchange D. Vadodara Stock Exchange

Q75. i, AR FT Fa@ AT Felh TFaS 62

A. SiFe Tl TFEdS B. &Idiel TTeh TFETSA

C. J9TelR Tl varader D. JSIeT ¥eleh Tardof

Q76. is the largest source of employment of expat Indians.

A. Middle East B. USA

C. UK D. Malaysia

Q76. YarHY STIRAAY & ASIIR T Tad 9371 AT 81

A. AL g4 B. g.tH.T.

C. .. D. Aafr

Q77. Crude oil production and infrastructure industry of employs over 2 million
expat Indians.

A. Bahrain B. Saudi Arabia

C. Kuwait D. Iraq

Q77. FT %3 e 3t AR AT FraT 35NT, 20 A F A AR AT F AR v B
A. FglT B. §3<! 3RE

C. %dd D. 5%

Q78. National Vocational Training Institute for Women is located in
A. Noida B. Gurgaon
C. Chandigarh D. Jaipur
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Q78. Afgansit F T TSET AaaT_Aw TRIEToT FEYTeT # Rya g
A. Arwsr B.a'os?T'rq'
C. T31Te D. SR

Q79. The Indian government has earmarked Rs.3,500 crores as capital for
in financial year 2018.

A. Krishi Vigyan Kendras (KVKs) B. National Bank for Agriculture and Rural
Development (NABARD)

C. Indian Council for Agricultural Research (ICAR) D. Indian Institute of Horticultural Research
(IIHR)

Q79. #Rd R & e a§ 2018 # & fav 9t & w9 7 3,500 F3 T93 Auifa
T §1

A. B faaarel g (.d1.%.) B. U@ ¥ va reior faemre e (ATaTS)

C. R Y eg@en= gRwe (3m8.4.0.3R.) D. R SETATeAT 3THT FEATT (TS, 3778, T3 )

Q80. The Reserve Bank of India (RBI) has cut the repo rate by 25 basis points each in April
2016 and October 2016 to percent.

A. 7.05 B. 6.25
C.5 D. 5.5

Q80. R Rerd 3% (3m.dh.ams.) & sriier 2016 31 e 2016 # gfaerd a& [ e &
25 TR 31 H Feldr H g

A. 7.05 B. 6.25

C.5 D. 5.5

Q81. Which technology company announced its partnership with Laghu Udyog Bharati, an
association of small and micro industrial units, to launch GST-related information to help
Micro, Small and Medium Enterprises (MSMEs)?

A. Wipro B. Microsoft
C. TCS iON D. HDFC Ergo
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Q81. Fw VeI Fueh & wew, oy IR #7egwH 37T (WH.wH.1A.§.) F Aeg w1 ¥ fAv sh.ew.d. & wefta
SITARRY I F F AT ag 3R gaw sicafrs sesal & v §u, oY A AR F ary areel wrgierdt #r ghvor

#?
A. faur
C. &r.dug. me3

B. ATSHIAMTC
D. T.3r.uw. o). Tt

Q82. Which one of the following governs International trade?

A. World Custom Organization

C. International Monetary Fund

B. International Trade Centre

D. World Trade Organization

Q82. Arafaf@d # ¥ i, IR AR F AT Far 82

A. 29 FEcH GItaaT

C. 3eRTSE #HeT I

B. 3{cRTSERT saMaR e

D. {399 SUUR Gt

Q83. What do you mean by International trade?

A. The exchange of capital and labour across
international borders.

C. The exchange of only consumable products
across international borders.

Q83. AT IR F AT FIT TAHAS &2
A. ATSEr HAT &3 A Gl 3R AH FT 3Ter-YeT |

C. 3R WA 813t 7 Fhael 3UHNIT 3cUTel &1 31T -
TeTe |

Q84. The fiscal policy of India is drafted by
A. Ministry of Finance

C. State Bank of India
Q84. #Rd i ey Afa

A. ca #are @

C. 9IRd e d&
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B. The exchange of capital, goods, and services
across international borders or territories.

D. The exchange of surplus produced goods
across international borders.

B. 3cRTSErr TaAT &¥at I vt & Goft, aegsit 3R damsit
T 3TeTA-YeTe |

D. 3aisdra A &1 # Ay Seurfed awqg3it
HTETA-9ETeT |

B. Reserve Bank of India

D. President of India

EaRT AR A 7§ &

B. R Roid &%
D. IR & Isgafa
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Q85. The Government of India prepares its economic budget

A. Monthly B. Quarterly

C. Half yearly D. Annually
Q85. HRd TR T IRIF T R FICAT B

A. & AE= B. & dief #Agll WX
C. /& AglA W D. g¥ |1l

Q86. An individual cannot open his account with the

A. State Bank of India B. Oriental Bank of Commerce
C. Federal Bank D. Reserve Bank of India
Q86. TF IfFd & UTH 9T GIAT AT Wil FoheT ¢

A. SR VT dh B. 3fiRUca i 3w Hiag

C. %stel d% D. R Rerd d

Q87. The tax that is imposed by the government on the net income of a public or private

company is

A. Corporation tax B. Wealth tax

C. Capital tax D. Monetary tax

Q87. TF Frastiard AT sl F9elt FT g W N TSR GFRT T-AT AT F g1
A. fAarH B. &7 &Y

C. gaflara &t D. Hifge &

Q88. An example of scalar quantity is

A. Volume B. Acceleration
C. Force D. Velocity
Q8s. 3rfer TR FT vF 3eTETr ¢

A. 3Taded B. caxor

C. ol D. 3
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Q89. How many hydrogen atoms are present in one molecule of Ethylene with molecular
formula C;H4?

A. 2 B. 4

C.6 D.8

Q89. C;H, 3TUTfAF FF aTel 3UTSelIT & T V] H FTB3ISTT & Fhcaal ITAT BXT 82
A. 2 B. 4

C.6 D. 8

Q90. The roots of a plant show phototropism.

A. Positive B. Negative

C. Neutral D. Maximum
Q90. tF gler #r 1 wREdsH i gerid &

A. §FRIcHS B. FhRIcHS

C. dc&d D. SI1ET ¥ ST
Q91. is the synonym of "EFFERVESCENCE".

A. High fever B. Bubbling

C. Laziness D. Tiredness
Q92. is the antonym of "ARTIFICIAL".

A. Imitation B. false

C. Artistic D. Real

Q93. Identify the meaning of the idiom.
"Best of both worlds."

A. Enjoy advantages of two different situations B. The best situation when comparing two
situations
C. To be in two different situations D. The best option when given two options
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Q94. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"We can ready too help family."

A. We are readying to help the family. B. We are ready to help the family.
C. We can ready to help a family. D. We could ready to help a family.

Q95. Complete the sentence by choosing the correct word.

The thief (steal) the cash was caught on camera.

A. Stealing B. Was stealing

C. Had stealing D. Stole

Q96. %= 2reg FT THHATH areg TS |

o

A. g B. #ch

C. #AqS D. YRERe%

Q97. faw ereg &1 Rudia (Raw) 3ref sarsd |

reT#HY

A. 9 B. 3T

C. &anra D. ard

Q98. i fard aygTat &1 37T e A |

YT 8T STaleol T

A. T HF 7 FEAT B. 39T 379eT G2 H glaT
C. ¥9¥ &N fahar 91T &1 AgedquT 8T & D. 379 g1 § STaTe=A1r St T T HLar
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Q99.i’@1ﬁ'rcrara:$ra§aa:raaﬁ|

QAT # agd IS I IET T
A. TEd® B. q&ch
C. g&as D. q&ch

Q100. A fAW 2Usg FT THausT T4 |

FaREr
A. Y B. FaIlX
C. Ferly D. HeifiY
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